Mon Tue Wed Thu Fri Sat Sun
H AT 12 18H 125 19H 12720H 12H21H 125221 12H23H 125241
TR E 12]138%
A= 1 ff C2 x 3set 15~18km B1 18km 15~18km B1 C2 x 3set
= ~ —~
N X ose B2 (25min x 2) m X ose
A=a—2 15~18km B1 15~18km B1
H 12H25H 12H26H 12H27H 12H28H 12H29H 12H30H 12H31H
TiERE
- B2 ergo
A=a—1 off 15km B1 . 15km B1 C2 x 3set *1 *1
(2x25min)
o Aerobic exercise Aerobic exercise
A==l 15km B 15km B B1 (40-60 min) B1 (40-60 min)
A A 1A1H 1A2H 1A3H 1H4H 1A5H 1H6H 1A7H
TERL
18km
= * * *
A=a—1 1 1 1 15km B1 18km B1 C2 x 3set B2 (25minx 2)
_ Aerobic exercise Aerobic exercise Aerobic exercise
a2 B1 (40-60 min) B1 (40-60 min) B1 (40-60 min) 15km B
H AT 1H8H 1H9H 1H10R LA11H 1H12H 1H13R 1A 14H
TERY
B2 ergo VOpmax test VO,max test 15km
=a—1
A==z off (2x25min) 12 km B1 (B4fH %) (B4t M) 12 km B1 BS (2x500 m)
Fma—o 12 km B1 12 km B1 8~10 km 8~10 km
- *2 *2 Technical Technical
A A 1A15H 1A16H 141780 1H18H 1A19R 17201 1H21H
TERL
o 000 Aerobic exercise
A==l B6 (6x10 B 00 000 000 B1 (40-60 min) 13km Bl €2 x 3set
_ 8~10 km 8~10 km
a2 Technical Technical 12 km Bl
H AT 1H22H 1H23H 1H24R 1H25H 1H26H 1H27H 1728H
TERE
- B2 ergo
A=a2—1 off : 15km B1 C2 x 3set 15km B1 18km B1 C2 x 3set
(2x25min)
A=a—2 15km B1
A A 1H29H 1H30H 1H31H 2H1H 2H2H 2H3H 2H4H
TiERE
_ B2 ergo
Azma—1 off 15km B1 C2 x 3set 15km B1 : 18km B1 C2 x 3set
(2x25min)
A=a—2 15km B1

AZ=a— 10777 AEBENICERL, RENHLILEICIEA =2 —2 bFEET S,
*1: FERFIRITA0-600RE D FHRRIES (BIMEY) 2#EML, 12/30-1/3 03 b1HIETEKREEZ LS
*2:VO2max7 R M EB4ICIEE T 2720, BHEAERLHAIFROERZRAET . AELEBMLAVGAIEA =2 —2%2 £



